

# Republic of the Philippines CENTRAL MINDANAO UNIVERSITY Bids and Awards Committee University Town, Musuan, Maramag, Bukidnon

E-mail: bac@cmu.edu.ph

### **NOTICE OF AWARD**

**APRIL 6, 2022** 

Mr.REXAR B. RAÑOA
Authorized Representative
J4 MARKETING
Block Lot 6 Lot 30 Villa, Flora Subdivision
Phase 2, Cugman, Cagayan de Oro City

Dear Sir:

This is to inform you that your bid proposal for the PROCUREMENT OF ICT SUPPLIES which shall be funded under General Fund after having been post-qualified and declared to have obtained the Lowest Calculated Responsive Bid, has been recommended for award by the Bids and Awards Committee (BAC) of Central Mindanao University by virtue of BAC Resolution No. ITB-01-2022, and the same has been approved by the Central Mindanao University thru the undersigned at the amount of Two Million Eighty Seven Thousand Thirteen Pesos and Sixty Cents (Php2,087,013,60). You are hereby requested to manifest your acceptance of this Notice of Award.

Relative thereto, and in accordance with the provisions of the documents and Revised R.A. No. 9184, otherwise known as the Government Procurement Reform Act and its Implementing Rules and Regulations, you are hereby instructed to submit the following documents with ten (10) calendar days from the date of your receipt of this Notice of Award to within:

#### A. PERFORMANCE SECURITY

This is to be posted in favor of the Central Mindanao University, in the form of cash, manager's check, cashier's check, bank draft/guarantee confirmed by local bank, irrevocable letter of credit issued by a reputable bank, surety bond callable upon demand, issued by the Government Service Insurance System or any reputable surety or insurance company duly accredited by the Office the Insurance Commissioners, or a combination thereof IN ACCORDANCE with the following schedule:

FORM OF PERFORMANCE SECURITY	AMOUNT OF PERFORMANCE SECURITY (EQUAL TO PERCENTAGE OF THE TOTAL CONTRACT PRICE)
Cash or cashier's/manager's check issued by a Universal or Commercial Bank.	Five percent (5%)
Bank draft/guarantee or irrevocable letter of credit issued by a Universal or Commercial Bank: Provided, however, that it shall be confirmed or authenticated by a Universal or Commercial Bank, if issued by a foreign bank.	
Surety bond callable upon demand issued by a surety or insurance company duly certified by the Insurance Commission as authorized to issue such security; and/or	Thirty percent (30%)
Any combination of the foregoing.	Proportionate to share of form with respect to total amount of security

Within the same period of ten (10) days as indicated above, you are directed to enter into and execute the Goods Contract with the University.

This Performance Security shall be forfeited in favor to Central Mindanao University in the event of default on your part in the performance of any of your obligations under the Contract.

Finally, it must be noted that you shall not commence the work nor initiate the procurement of materials for the project prior to your receipt of the Notice to Proceed.

Very truly yours,

JESUS ANTONIO G. DER

Received, Acknowledged and Accepted:

Name:

Signaturo:

Date:



# Republic of the Philippines CENTRAL MINDANAO UNIVERSITY Bids and Awards Committee University Town, Musuan, Maramag, Bukidnon

E-mail: bac@cmu.edu.ph

## CONTRACT OF AGREEMENT

REF. NO. -ITB-01-2022

THIS AGREEMENT made this \_\_\_\_\_\_ between CENTRAL MINDANAO UNIVERSITY of the Philippines (thereinafter called "the Entity") of the one part and J4 MARKETING at Block Lot 6 Lot 30 Villa, Flora Subdivision Phase 2, Cugman, Cagayan de Oro City (hereinafter called "the Supplier") of the other part:

Whereas, the Entity invited Bids for certain goods and ancillary services, viz., **PROCUREMENT OF ICT SUPPLIES** and has accepted a Bid by the Supplier for the supply of those goods and services in the sum of **Two Million Eighty Seven Thousand Thirteen Pesos and Sixty Cents** (**Php2,087,013.60**) with the items listed below:

ITEM	UNIT	QTY	DESCRIPTION	OFFER	UNIT PRICE	TOTAL AMOUNT
1	unit	8	600Gb SAS 2'5 (replacement for HP Blade Server)		2,322.00	18,576.00
2	unit	8	12800r 16Gb RAM		2,709.00	21,672.00
3	roll	5	Cat 5e UTP Ethernet Cable 305 meters		645.00	3,225.00
4	pcs	100	2ft Cat6 UTP patch cables		193.5	19,350.00
5	pcs	50	1.5 Cat6 UTP patch cables		193.5	9,675.00
6	pcs	50	3 Cat6 UTP patch cables		193.5	9,675.00
7	pcs	50	5 Cat6 UTP PATCH cables		193.5	9,675.00
8	pcs	100	Electrical wire moulding 25mm x 16mm x.7mm x 8ft		516.00	51,600.00
9	units	5	AP Outdoor,802.11ac Wave2 Technology, 300m coverage radius, Auto-provisioning via Self- Organizing Network, Surge Protection 6KV, IP Rating IP68 Industrial Design, 164 max clients, 96 recommended and up to 8 SSIDs		15,480.00	77,400.00
10	units	20	AP indoor, dual-band dual ratio (2.4G+5G), 1024 Maximum clients per AP 1 console port and 1 10/100/1000M Ethernet, PoE In, Up to 4:2x2:2 in 2.4GHz, 2x2:2 in 2.4GHz, 2x2:2 in SGHz spatial Stream		11,610.00	232,200.00
11	set	1	200A three phase double throw safety switch with fuse cartridge		38,700.00	38,700.00
12	pcs	75	12V 5Ah rechargeable battery for 9PX EBM UPS		1,677.00	125,775.00
13	unit	10	8GB DDR3 SDRAM @ 1066MHz		2,838.00	28,380.00

14	unit	10	8GB DDR4 SDRAM @ 2400MHz	3,676.5	36,765.00
15	unit	10	8GB DDR3 SODIMM @ 1066MHz	1,548.00	15,480.00
16	unit	10	8GB DDR4 SODIMM @ 2400MHz	2,580.00	25,800.00
17	unit	10	500GB 2.5" SSD	4,128.00	41,280.00
18	unit	10	1TB MX500 2.5" Internal SATA SSD	7,095.00	70,950.00
19	unit	10	NV1 1TB M.2 2280 NVMe PCle Internal SSD	7,095.00	70,950.00
20	unit	2	Fiber Optic Visual Fault Locator	1,096.5	2,193.00
21	unit	2	Digital Multi-Tester CD800	6,940.2	13,880.4
22	unit	2	Digital Ethernet CAT5&6 LAN Network Cable PoE switch tester detector NF-488	3,225.00	6,450.00
23	unit	5	650W PSU 80+ Compliant	3,612.00	18,060.00
24	unit	10	Keyboard QWERTY + Mouse Combo USB	645.00	6,450.00
25	unit	10	128GB SDCZ60-128G Cruzer Glide Flash Drive	1,161.00	11,610.00
26	unit	2	Star Allen Spanner Torque Wrench Kit	709.5	1,419.00
27	unit	1	GSB 18V-50 Cordless Brushless Impact Drill Kit	14,577.00	14,577.00
28	unit	1	GBL 18V-120 Cordless Blower	5,547.00	5,547.00
29	unit	1	GAS 18V-10L Cordless Dust Extractor (Baretool)	10,810.2	10,810.2
30	unit	2	6 piece screw driver set with Tester	1,290.00	2,580.00
31	unit	10	C13T03Y100 (Black)	451.5	4,515.00
32	unit	10	C13T03Y200 (Cyan)	451.5	4,515.00
33	unit	10	C13T03Y300 (Magenta)	451.5	4,515.00
34	unit	10	C13T03Y400 (Yellow)	451.5	4,515.00
35	unit	10	UPS Battery GP-1272 F2 12V 7.2Ah	1,483.5	14,835.00
36	unit	10	UPS Battery HR1221WF2 12V 5Ah UPS Battery	1,677.00	16,770.00
37	unit	2	2.5 INCH SATA USB 3.0 HDD ENCLOSURE	1,225.5	2,451.00
38	unit	1	5 Bays SATA HDD USB 3.0 Dock Enclosure Docking Station Super Speed	12,061.5	12,061.5
39	unit	1	2020D 700W hot air soldering station with heat changing channel (with LCD display)	16,512.00	16,512.00
40	unit	5	Cisco IP-7821	19,350.00	96,750.00
41	unit	1	6ft Fiberglass Step Ladder	12,900.00	12,900.00
42	unit	1	4.7m heavy duty multi-purpose	5,160.00	5,160.00
43	unit	20	foldable aluminum ladder  Headset USB Jabra Biz 1100 Duo, 32 ohm	2,193.00	43,860.00
44	unit	43	3 in 1 PRINTER PRINT, SCAN,	12,642.00	543,606.00

			GRAND	TOTAL	2,087,013.60	
56	piece	1	Power Adaptor- 120W for Lenovo AIO300-221ISU		2,193.00	2,193.00
55	piece	1	Memory desktop RAM ddr4 16gb single module		5,418.00	5,418.00
54	piece	5	RAM -Memory RAM ddr4 16gb single module for nuc7i3BNH		5,418.00	27,090.00
53	piece	7	500GB 2.5"		8,772.00	61,404.00
52	piece	2	SSD 1TB 2.5"		4,515.00	9,030.00
51	piece	1	PSU 500W 80 plus Bronze		2,322.00	2,322.00
50	piece	3	AVR 500W Servo Motor		1,032.00	3,096.00
49	piece	4	UPS- CS650 650VA with USB Power Management BK650as		13,932.00	55,728.00
48	pcs	4	Laser Toner 103A		1,290.00	5,160.00
47	unit	1	Neverstop Laser 1000a Printer		20,382.00	20,382.00
46	unit	10	LK-5WBN LC-5WBN SS18KW Label Tape Compatible		1,057.8	10,578.00
45	unit	5	L4160 Wi-Fi Duplex All-in-One Ink Tank Printer		20,188.5	100,942.5
			COPY Compact integrated tank design High yield ink bottles Spill- free, error-free refilling Borderless printing			

### NOW THIS AGREEMENT WITNESSETH AS FOLLOWS:

- 1. In this Agreement words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract referred to.
- 2. The following documents shall be deemed to form and be read and construed as part of this agreement, viz,:
- (a) the Bid Form and the Price Schedule submitted by the Bidder;
- (b) the Schedule of Requirements;
- (c) the Technical Specifications;
- (d) the General Conditions of Contract;
- (e) the Special Conditions of Contract; and,
- (f) the Entity's Notification of Award.
- 3. In consideration of the payments to be made by the Entity to the Supplier as hereinafter mentioned, the Supplier hereby covenants with the Entity to provide the goods and services and to remedy defects therein in conformity in all respects with the provisions of the Contract.
- 4. The Entity hereby covenants to pay the Supplier in consideration of the provision of the goods and services and the remedying of defects therein, the Contract Price or such other sum as may become payable under the provisions of the contract at the time and in the manner prescribed by the contract.

IN WITNESS whereof the parties hereto have caused this Agreement to be executed in accordance with the laws of the Republic of the Philippines on the day and year first above written.

The Common Seal of CMU, Musuan, Bukidnon was herein affixed in the presence of DR. JESUS ANTONIO G. DERIJE

Signed, sealed, and delivered by J4 MARKETING in the presence of REXAR B.RAÑOA.

Binding Signature of Entity:	В	inding Signature of Supplier:
JESUS ANTONIO G. DI President	E POLITE A VIII	EXAR B.RAÑOA norized Representative
Witness:		Jumphum .
	MARIA JA	MELLAH CELESTE M. MAGALONA Chief, Accounting Unit
	ACKNOWLEDGEMENT	
REPUBLIC OF THE PHILIPPINES) PROVINCE OF BUKIDNON ) s.s. MUNICIPALITY DEMORAMONTY		
BEFORE ME a Notary Public for in personally appearaccordance with the 20m Rules on Notarial Practice.		day of a described Competent Evidence of Identity (CEI) i
Name	Competent Evidence of Identity	Date/place Issued
JESUS ANTONIO G. DERIJE		
REXAR B.RAÑOA		
Known to me to be the same person who executact and deed.	ted the foregoing instrument and who acknow	vledge to me that the same is their free and voluntar
This instrument refers to the Contract of Agree and every hereof and thereof, including this pag		age, signed by the parties and their witnesses on each
IN TESTIMONY WHEREOF, I have hereunto		
in the Municipality	ALENCIA LIProvince of UNIUN	ON.
in the Municipalit	ALENCIA CLIFONINCE OBUKION	In Bot
	ALENCIA CIPTOVince of OKIDA	NCISCO L. VASIG. JR.
282	FRA	NOTARY PUBLIC
DOC. NO. 289	FRA	NOTARY PUBLIC
DOC. NO. 289 PAGE NO. 19	FRA UNT	NOTARY PUBLIC FIL JUNE 30, 2022 NO. 169687 12/3/2021
DOC. NO. 289	FRA UNT	NOTARY PUBLIC

TIN 106-036-894 ROLL NO. 23109 NOT. COMM. NO. 02-20